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F.Surv.Pr.
Full Marks : 40
Pass Marks : 16

Each question carries equal marks.

iIR;d i"u dk eku cjkcj gA

Examiners will allot any one field work from the
undermentioned field works to the examinee / group of
examinees by lottery to perform the work as per
instruction.

1ji{kd futukidr {k= dk;k e I fdlh ,d {k= dk; dki‘u e
fn; x; funk d vullj Bilu dju gr i*u dk vioVu
1j{KFh@ 1 ji{kkiFk;k d Beg dk YV Fk djxA
Necessary calculations, drawing and other works shall
be doneindividually.

vio®;d X.kukl vkj[ku ,0 wi; dk; 0;0rxr -1 1 fd;
Tk, xA

Marks areto be distributed in the following orders:
vdk dk forj.k fuEu ¢cdkj fd;k &k; ¢

Intrn. Extn.
Comm. Comm.
Practical exercise book 5 10
ox e fd; x; ¢;kxk dh ifLrdk
Procedural reporting and result 10 10
dk;ko;u ifronu ,o fu'd'
Viva voce 5 -
ekf[kd ¢*u

PT.O.
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M easure the distance between two given points about
100 metre apart by chain survey and obtain offsets of
main points. Write down the readingsin your answer

book and prepare the plan on asuitable scale.

{i=e n; x; nkfclnvk d chp dh njh yxHx 100 eiVj ydj
tjhc Tofk.k Hjk bl njh dk uki ,o0 [kBdk Hjk e[; fclnwvk
dk Kkr djA iBuk dk mUkj&ifLrdk e fy[k ,o0 {i= dk vkj[ku

djA

Measure the bearings of sides of a given closed
Traverse ABCDE by means of a prismatic compass and
write down the observationsin your answer book. Take

the suitable length of the sides of the Traverse.

fcTet dEikl 1 ,d fn; x; cln pde ABCDE dh IH Hktckvk
dk fndeku Kkr dj ,0 mlkj&ifLrdk e iBuk dk fy[kA p@e db

IR;d Hctk dh mi;Dr yEckb yA
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Set up the plane Table at agiven station in the field.
Plot the positions of some objects around the table on

the plan by Radiation Method.

fi=efn; x; ,d LV'ku ij lyu Vey dk LRéfir djA fofdj.k
fof/k Wik j[k-k&i= ij {i= e Vey d phjk vij fLFr dN oLrvi

ok LFlku fullGjr dja

Assumethe Bench Mark of agiven point inthefield as
100.000 metres. With the help of alevel find out the
Reduced Level (R.L.) of another point at a distance of

about 500 metre.

{i= e fn; x; ,d fcln dk ry fpa 100.000 elVj ekudj ycy
Hjk bl fcin 1 yxHx 500 efVj dh njh ij fLFr fdIh nlj

fcin dk Bekutr ry Kkr djA
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